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Defn. A vv. ¥ has a Poisson  distribuhion
[Shorthand i Y Pois (A)] if its prebebility

‘Funcﬁon 18

'Ekeorem: The Poisson distribution is a
valid Frob&\tai,f‘fy distribuhon,

Fro D'F ‘

Theorem: T£ Y Pois (A), then
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~The variance result will be Frovcal later
Exmrlei SuﬂDose, -H«\e. number o‘p

&Cf—idﬂ'\ﬁ per Mon'H'\ alT an anLtS'h’i‘L’
F\M\“' ha s a_ PoiSSon clfs‘f'r‘n\ou',"ion wH-Ll
mean 2.6 . Finol the Frolndo'ifi‘f‘)r Hnat
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number of occurrences in t units of +ime
-FollOuJS a




Re'ld—‘.onSL{F w"'H" Binomial -DI'S‘fT:'LuChbn

e I N larje) P s smaL”) and
A= np 1S Somewhat small (\oook: )

Hhen the Bin(h)FB PrOL&L'I‘I"H'ES cu*e)

Q.‘-"F\"OX\MCI‘&I‘]! @Luq_, +5 'H-\e PofS ()\)
‘)r‘o\o&.L‘l I{Hes ;
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